WVLS Member Libraries - 2024 Reimbursements from Home and Adjacent Counties (Based on 2022 Annual Report Data)

(NOTE: The amounts calculated when dividing 2022 Expenditures by 2022 Cirulations have been rounded)

Library	Home County	2022 Operating Expenditures (less federal funds)	2022 Total Circulation	2022 Expenditures / Circulation	County	*2022 Circs to Residents w/o Library	2024 Payment 100%	2024 Payment 70%
								70%
Abbotsford	Clark	\$140,767	20,120	\$7.00	HOME COUNTY	4,467	\$31,269.00	\$21,888.30
					Chippewa Taylor Wood	5 589 1	\$35.00 \$4,123.00 \$7.00	\$24.50 \$2,886.10 \$4.90
						_	71.00	7
Antigo	Langlade	\$669,165	78,359	\$8.54	HOME COUNTY	Joint City/County Pu 0	sblic Library \$0.00	\$0.00
					Forest Lincoln Oconto Oneida	1,436 497 135 407	\$12,263.44 \$4,244.38 \$1,152.90 \$3,475.78	\$8,584.41 \$2,971.07 \$807.03 \$2,433.05
Colby	Clark	\$322,550	63,218	\$5.10	HOME COUNTY	22,167	\$113,051.70	\$79,136.19
					Chippewa Taylor Wood	3 736 110	\$15.30 \$3,753.60 \$561.00	\$10.71 \$2,627.52 \$392.70
	_			1				
Crandon	Forest	\$186,862	13,618	\$13.72	HOME COUNTY	7,520	\$103,174.40	\$72,222.08

				Langlade Oconto Oneida	134 61 122	\$1,838.48 \$836.92 \$1,673.84	\$1,286.94 \$585.84 \$1,171.69
Dorchester	Clark	\$76,986	10,542	\$7.30			
Dorchester	Clark	\$70,500	10,542	HOME COUNTY	1,196	\$8,730.80	\$6,111.56
				Taylor	599	\$4,372.70	\$3,060.89
		4		1			
Gilman	Taylor	\$76,793	19,848	\$3.87 HOME COUNTY	12,790	\$49,497.30	\$34,648.11
				Chippewa	1,871	\$7,240.77	\$5,068.54
				Clark	272	\$1,052.64	\$736.85
				Lincoln	11	\$42.57	\$29.80
				Rusk	619	\$2,395.53	\$1,676.87
•		442.000	12.002	42.00			
Granton	Clark	\$42,869	13,863	\$3.09 HOME COUNTY	9,036	\$27,921.24	\$19,544.87
				Eau Claire Wood	5 103	\$15.45 \$318.27	\$10.82 \$222.79
				vvood	103	7510.27	7222.73
Greenwood	Clark	\$113,196	19,572	\$5.78			
		. ,	,	HOME COUNTY	9,647	\$55,759.66	\$39,031.76
				Taylor	51	\$294.78	\$206.35
1	Fanas !	664.534	E 400	Ć12.42			
Laona	Forest	\$64,524	5,196	\$12.42 HOME COUNTY	743	\$9,228.06	\$6,459.64
				Florence	20	\$248.40	\$173.88
				Oconto	90	\$1,117.80	\$782.46
Loyal	Clark	\$100,280	13,749	\$7.29 HOME COUNTY	5,945	\$43,339.05	\$30,337.34

Marathon Co.	Marathon	\$3,383,661	627,117	\$5.40	Consoli	idated County I	Public Library	
				НОМ	IE COUNTY	0	\$0.00	\$0.00
				Clark		1,251	\$6,755.40	\$4,728.78
				Langl		386	\$2,084.40	\$1,459.08
				Linco		2,995	\$16,173.00	\$11,321.10
				Porta	_	1,142	\$6,166.80	\$4,316.76
				Taylo		961	\$5,189.40	\$3,632.58
				Woo	d	183	\$988.20	\$691.74
NA adfaud	Tandar	Ć424 052	110 250	ć2.52				
Medford	Taylor	\$421,053	119,350	\$3.53	IE COLINEY	F0.000	¢244 720 40	¢4.40.240.50
				HOIVI	IE COUNTY	59,980	\$211,729.40	\$148,210.58
				Chipp	news	7	\$24.71	\$17.30
				Clark		1,844	\$6,509.32	\$4,556.52
				Linco		653	\$2,305.09	\$1,613.56
				Price		637	\$2,248.61	\$1,574.03
				Rusk		94	\$331.82	\$232.27
							, , , , , , , , , , , , , , , , , , , ,	, -
Merrill	Lincoln	\$998,098	111,925	\$8.92				
				HOM	IE COUNTY	47,246	\$421,434.32	\$295,004.02
				Langl	lade	324	\$2,890.08	\$2,023.06
				Onei	da	194	\$1,730.48	\$1,211.34
				Price		53	\$472.76	\$330.93
				Taylo	or	156	\$1,391.52	\$974.06
Minocqua	Oneida	\$484,590	120,383	\$4.03			4	400 (
				НОМ	IE COUNTY	34,807	\$140,272.21	\$98,190.55
					l. d.	-	622.24	400 ==
				Langl		120	\$32.24	\$22.57
				Linco		130	\$523.90	\$366.73
				Price Vilas		218 22,514	\$878.54 \$90,731.42	\$614.98 \$63,511.99
				VIIdS		22,314	330,731.42	\$05,511.99

HOME COUNTY	Neillsville	Clark	\$133,395	25,891	\$5.15				
Clark \$118,048 13,469 \$8.76 HOME COUNTY 6,126 \$53,663.76 \$37,564.63 Taylor 1,013 \$8,873.88 \$6,211.72 \$7,000					HOM	ME COUNTY	15,599	\$80,334.85	\$56,234.40
HOME COUNTY 6,126 \$53,663.76 \$37,564.63 Taylor 1,013 \$8,873.88 \$6,211.72					Jacks	son	123	\$633.45	\$443.42
HOME COUNTY 6,126 \$53,663.76 \$37,564.63 Taylor 1,013 \$8,873.88 \$6,211.72	•	Ch. d	Ć440.040	12.460	60.76				
Taylor 1,013 \$8,873.88 \$6,211.72 Rhinelander Oneida \$970,681 117,701 \$8.25 Forest 170 \$1,402.50 \$981.75 Langlade 2,778 \$22,918.50 \$16,042.95 Lincoln 3,252 \$26,829.00 \$18,780.30 Price 2 \$16.50 \$11.55 Vilas 700 \$5,775.00 \$4,042.50 Rib Lake Taylor \$94,547 15,456 \$6.12 Clark 4 \$24.48 \$17.14 Lincoln 6 \$36.72 \$25,70 Price 1,619 \$9,908.28 \$6,935.80 Stetsonville Taylor \$74,496 12,340 \$6.04 HOME COUNTY 1,608 \$9,712.32 \$6,798.62 Clark 54 \$326.16 \$228.31 Thorp Clark \$108,859 24,304 \$4.88 HOME COUNTY 11,838 \$53,034.24 \$37,123.97 Chippewa 685 \$3,068.80 \$2,148.16 Eau Claire 313 \$1,402.24 \$981.57	Owen	Clark	\$118,048	13,469		AF COLINTY	6 126	\$53 663 76	\$37 564 63
Rhinelander Oneida \$970,681 117,701 \$8.25 HOME COUNTY 14,422 \$118,981.50 \$83,287.05					HOIV	ME COOM I	0,120	\$33,003.70	757,504.05
HOME COUNTY 14,422 \$118,981.50 \$83,287.05 Forest 170 \$1,402.50 \$981.75 Langlade 2,778 \$22,918.50 \$16,042.95 Lincoln 3,252 \$26,829.00 \$18,780.30 Price 2 \$16.50 \$11.55 Vilas 700 \$5,775.00 \$4,042.50 RIb Lake Taylor \$94,547 15,456 \$61.2 HOME COUNTY 3,757 \$22,992.84 \$16,094.99 Clark 4 \$24.48 \$17.14 Lincoln 6 \$36.72 \$25.70 Price 1,619 \$9,908.28 \$6,935.80 Stetsonville Taylor \$74,496 12,340 \$6.04 HOME COUNTY 1,608 \$9,712.32 \$6,798.62 Clark 54 \$326.16 \$228.31 Thorp Clark \$108,859 24,304 \$4.48 HOME COUNTY 11,838 \$53,034.24 \$37,123.97 Chippewa 685 \$3,068.80 \$2,148.16 Eau Claire 313 \$1,402.24 \$981.57					Taylo	or	1,013	\$8,873.88	\$6,211.72
HOME COUNTY 14,422 \$118,981.50 \$83,287.05 Forest 170 \$1,402.50 \$981.75 Langlade 2,778 \$22,918.50 \$16,042.95 Lincoln 3,252 \$26,829.00 \$18,780.30 Price 2 \$16.50 \$11.55 Vilas 700 \$55,775.00 \$4,042.50 RIb Lake Taylor \$94,547 15,456 \$61.2 HOME COUNTY 3,757 \$22,992.84 \$16,094.99 Clark 4 \$24.48 \$17.14 Lincoln 6 \$36.72 \$25.70 Price 1,619 \$9,908.28 \$6,935.80 Stetsonville Taylor \$74,496 12,340 \$6.04 HOME COUNTY 1,608 \$9,712.32 \$6,798.62 Clark 54 \$326.16 \$228.31 Thorp Clark \$108,859 24,304 \$4.48 HOME COUNTY 11,838 \$53,034.24 \$37,123.97 Chippewa 685 \$3,068.80 \$2,148.16 Eau Claire 313 \$1,402.24 \$981.57									
Forest 170 \$1,402.50 \$981.75 Langlade 2,778 \$22,918.50 \$16,042.95 Lincoln 3,252 \$26,829.00 \$18,780.30 Price 2 \$16.50 \$11.55 Vilas 700 \$5,775.00 \$4,042.50 Rib Lake Taylor \$94,547 15,456 \$6.12 Clark 4 \$24.48 \$17.14 Lincoln 6 \$36.72 \$25.70 Price 1,619 \$9,908.28 \$6,935.80 Stetsonville Taylor \$74,496 12,340 \$6.04 HOME COUNTY 1,608 \$9,712.32 \$6,798.62 Clark 54 \$326.16 \$228.31 Thorp Clark \$108,859 24,304 \$4.48 HOME COUNTY 11,838 \$53,034.24 \$37,123.97 Chippewa 685 \$3,068.80 \$2,148.16 Eau Claire 313 \$1,402.24 \$981.57	Rhinelander	Oneida	\$970,681	117,701					
Langlade 2,778 \$22,918.50 \$16,042.95 Lincoln 3,252 \$26,829.00 \$18,780.30 Price 2 \$16.50 \$11.55 Vilas 700 \$5,775.00 \$4,042.50 Price 2 \$1,619 \$1,000 \$10.					HOM	ME COUNTY	14,422	\$118,981.50	\$83,287.05
Langlade 2,778 \$22,918.50 \$16,042.95 Lincoln 3,252 \$26,829.00 \$18,780.30 Price 2 \$16.50 \$11.55 Vilas 700 \$5,775.00 \$4,042.50 Price 2 \$16.50					Fore	ict.	170	\$1 402 50	\$081.75
Lincoln 3,252 \$26,829.00 \$18,780.30 Price 2 \$16.50 \$11.55 Vilas 700 \$55,775.00 \$4,042.50 Price 2 \$16.50 \$4,042.50 Price 2									
Price 2 \$16.50 \$11.55 Vilas 700 \$5,775.00 \$4,042.50 Price Vilas 700 \$5,775.00 \$4,042.50 Price Pr					_				
Vilas 700 \$5,775.00 \$4,042.50									
HOME COUNTY 3,757 \$22,992.84 \$16,094.99									
HOME COUNTY 3,757 \$22,992.84 \$16,094.99									
Clark 4 \$24.48 \$17.14 Lincoln 6 \$36.72 \$25.70 Price 1,619 \$9,908.28 \$6,935.80 Stetsonville Taylor \$74,496 12,340 \$6.04 HOME COUNTY 1,608 \$9,712.32 \$6,798.62 Clark 54 \$326.16 \$228.31 Thorp Clark \$108,859 24,304 \$4.48 HOME COUNTY 11,838 \$53,034.24 \$37,123.97 Chippewa 685 \$3,068.80 \$2,148.16 Eau Claire 313 \$1,402.24 \$981.57	Rib Lake	Taylor	\$94,547	15,456	\$6.12				
Lincoln 6 \$36.72 \$25.70 Price 1,619 \$9,908.28 \$6,935.80 Stetsonville Taylor \$74,496 12,340 \$6.04 HOME COUNTY 1,608 \$9,712.32 \$6,798.62 Clark 54 \$326.16 \$228.31 Thorp Clark \$108,859 24,304 \$4.48 HOME COUNTY 11,838 \$53,034.24 \$37,123.97 Chippewa 685 \$3,068.80 \$2,148.16 Eau Claire 313 \$1,402.24 \$981.57					HOM	IE COUNTY	3,757	\$22,992.84	\$16,094.99
Lincoln 6 \$36.72 \$25.70 Price 1,619 \$9,908.28 \$6,935.80 Stetsonville Taylor \$74,496 12,340 \$6.04 HOME COUNTY 1,608 \$9,712.32 \$6,798.62 Clark 54 \$326.16 \$228.31 Thorp Clark \$108,859 24,304 \$4.48 HOME COUNTY 11,838 \$53,034.24 \$37,123.97 Chippewa 685 \$3,068.80 \$2,148.16 Eau Claire 313 \$1,402.24 \$981.57					Clark	,	1	¢24.40	¢17.14
Price 1,619 \$9,908.28 \$6,935.80 Stetsonville Taylor \$74,496 12,340 \$6.04 HOME COUNTY 1,608 \$9,712.32 \$6,798.62 Clark 54 \$326.16 \$228.31 Thorp Clark \$108,859 24,304 \$4.48 HOME COUNTY 11,838 \$53,034.24 \$37,123.97 Chippewa 685 \$3,068.80 \$2,148.16 Eau Claire 313 \$1,402.24 \$981.57									
Stetsonville Taylor \$74,496 12,340 \$6.04 HOME COUNTY 1,608 \$9,712.32 \$6,798.62 Clark 54 \$326.16 \$228.31 Thorp Clark \$108,859 24,304 \$4.48 HOME COUNTY 11,838 \$53,034.24 \$37,123.97 Chippewa 685 \$3,068.80 \$2,148.16 Eau Claire 313 \$1,402.24 \$981.57								•	
HOME COUNTY 1,608 \$9,712.32 \$6,798.62 Clark 54 \$326.16 \$228.31 Thorp Clark \$108,859 24,304 \$4.48 HOME COUNTY 11,838 \$53,034.24 \$37,123.97 Chippewa 685 \$3,068.80 \$2,148.16 Eau Claire 313 \$1,402.24 \$981.57					Trice		1,015	43,300.20	\$0,555.00
Clark 54 \$326.16 \$228.31 Thorp Clark \$108,859 24,304 \$4.48 HOME COUNTY 11,838 \$53,034.24 \$37,123.97 Chippewa 685 \$3,068.80 \$2,148.16 Eau Claire 313 \$1,402.24 \$981.57	Stetsonville	Taylor	\$74,496	12,340	\$6.04				
Thorp Clark \$108,859 24,304 \$4.48 HOME COUNTY 11,838 \$53,034.24 \$37,123.97 Chippewa 685 \$3,068.80 \$2,148.16 Eau Claire 313 \$1,402.24 \$981.57					HOM	ME COUNTY	1,608	\$9,712.32	\$6,798.62
Thorp Clark \$108,859 24,304 \$4.48 HOME COUNTY 11,838 \$53,034.24 \$37,123.97 Chippewa 685 \$3,068.80 \$2,148.16 Eau Claire 313 \$1,402.24 \$981.57									
HOME COUNTY 11,838 \$53,034.24 \$37,123.97 Chippewa 685 \$3,068.80 \$2,148.16 Eau Claire 313 \$1,402.24 \$981.57					Clark	<	54	\$326.16	\$228.31
HOME COUNTY 11,838 \$53,034.24 \$37,123.97 Chippewa 685 \$3,068.80 \$2,148.16 Eau Claire 313 \$1,402.24 \$981.57	Thorn	Clark	¢100 0E0	24 204	¢1 10				
Chippewa 685 \$3,068.80 \$2,148.16 Eau Claire 313 \$1,402.24 \$981.57	illoth	CIUIK	\$100,022	24,304		AE COLINTY	11 838	\$53 034 <i>24</i>	\$37 123 97
Eau Claire 313 \$1,402.24 \$981.57					11010	IL COOM	11,000	755,057.24	757,125.57
Eau Claire 313 \$1,402.24 \$981.57					Chip	pewa	685	\$3,068.80	\$2,148.16
					-				
							1,753	\$7,853.44	\$5,497.41

Three Lakes	Oneida	\$259,311	25,441	\$10.19			
				HOME COUNTY	1,892	\$19,279.48	\$13,495.64
				Forest	339	\$3,454.41	\$2,418.09
				Langlade	1	\$10.19	\$7.13
				Lincoln	45	\$458.55	\$320.99
Tomahawk	Lincoln	\$426,599	52,218	\$8.17			
				HOME COUNTY	25,567	\$208,882.39	\$146,217.67
						40	4
				Langlade	3	\$24.51	\$17.16
				Oneida	6,061	\$49,518.37	\$34,662.86
				Price	377 139	\$3,080.09	\$2,156.06 \$794.94
				Taylor	139	\$1,135.63	\$794.94
Wabeno	Forest	\$34,026	2,835	\$12.00			
Trabello .	707630	Ψ3 1,020	_,	HOME COUNTY	568	\$6,816.00	\$4,771.20
						φ 0,020.00	¥ 1,777 = 1.=0
Westboro	Taylor	\$53,171	9,274	\$5.73			
				HOME COUNTY	109	\$624.57	\$437.20
				Price	32	\$183.36	\$128.35
Withee	Clark	\$69,272	7,297	\$9.49			
				HOME COUNTY	3,827	\$36,318.23	\$25,422.76
						4	.
				Taylor	96	\$911.04	\$637.73

